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QUESTION 1

Examine the output from the \\'diagnose debug authd fsso list\\' command; then answer the question below. 

# diagnose debug authd fsso list --FSSO logons-IP: 192.168.3.1 User: STUDENT Groups: TRAININGAD/ 

USERS Workstation: INTERNAL2. TRAINING. LAB The IP address 192.168.3.1 is NOT the one used by 

the workstation INTERNAL2. TRAINING. 

LAB. 

What should the administrator check? 

A. The IP address recorded in the logon event for the user STUDENT. 

B. The DNS name resolution for the workstation name INTERNAL2. TRAINING. LAB. 

C. The source IP address of the traffic arriving to the FortiGate from the workstation INTERNAL2. TRAINING. LAB. 

D. The reserve DNS lookup forthe IP address 192.168.3.1. 

Correct Answer: C 

 

QUESTION 2

Refer to the exhibit, which contains the output of diagnose sys session list. 

If the HA ID for the primary unit is zero (0), which statement about the output is true? 

A. This session cannot be synced with the slave unit. 

B. The inspection of this session has been offloaded to the slave unit. 

C. The master unit is processing this traffic. 

D. This session is for HA heartbeat traffic. 
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Correct Answer: C 

 

QUESTION 3

View the exhibit, which contains the output of a debug command, and then answer the question below. 

Which of the following statements about the exhibit are true? (Choose two.) 

A. In the network on port4, two OSPF routers are down. 

B. Port4 is connected to the OSPF backbone area. 

C. The local FortiGate\\'s OSPF router ID is 0.0.0.4 

D. The local FortiGate has been elected as the OSPF backup designated router. 

Correct Answer: BC 

 

QUESTION 4

View the exhibit, which contains an entry in the session table, and then answer the question below. 
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Which one of the following statements is true regarding FortiGate\\'s inspection of this session? 

A. FortiGate applied proxy-based inspection. 

B. FortiGate forwarded this session without any inspection. 

C. FortiGate applied flow-based inspection. 

D. FortiGate applied explicit proxy-based inspection. 

Correct Answer: A 

https://kb.fortinet.com/kb/viewContent.do?externalId=FD30042 

 

QUESTION 5

Refer to the exhibit, which contains a TCL script configuration on FortiManager. 

An administrator has configured the TCL script on FortiManager, but the TCL script failed to apply any changes to the
managed device after being run. 
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Why did the TCL script fail to make any changes to the managed device? 

A. The TCL command run_cmd has not been created. 

B. The TCL script must start with tinclude . 

C. Incomplete commands are ignored in TCL scripts. 

D. Changes to an interface configuration can be made only by a CLI script. 

Correct Answer: A 
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